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1) HIBAZ
A
AR ¥IEA 42
RET 26,537
2) ER5
107 R 101% 201% 301% 401% 501% 601% 701% 801% 901% 1001% AEF
AR ¥IEA 6 2 4 5 6 1 5 8 4 1 0
RET 3,176 3,397 4,823 3,601 3,704 2,751 1,352 1,403 1,344 627 34 325
3) 1R
B 2 A
AR ¥R 19 23 0
Rt 12,950 | 13,335 252
4) FAEBR
sk | 128 k8| 1284|128 T8 | 1BEA | 1B+4| | 1B T8 | 2BL® | 2B4E | 2B FE | 3ALEE | FAES
AR ¥IEA 3 0 0 0 0 0 2 1 3 20 11
RET 4,778 2 13 240 1,736 2,278 4,449 3,121 2,430 1,141 47 6,302
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2) FER5
1054600 | 1018 201% 301% 401% 501% 601% 701X 801% 901X 1001% FEF
B — e PRI 43 47 56 40 54 39 14 10 21 5 0 5
BE7EW | ey 422 550 | 1059 | 599 558 449 206 207 175 54 2 111
3) HH
B ZE AEF
b 11sensmong | FAHEA | 181 149
ER700 1 eet | 300 | 2047 52
4) HEHH
ek |12 LA | 12A4@ |12 TE| 1BLE | 1A+8 | 1B Ta | 2BLEE | 2A+A | 2B A | #AETF
B — H3RI8A 71 0 0 0 0 146 45 0 0 6 66
B E7EW | ey 576 1 12 206 859 836 469 148 98 40 1156
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105 A0m |  107% 207% 307% 407% 507% 607% 707% 801% 907% 100f%
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